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B RicaG(l
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Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:
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Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:
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Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:
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Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Tohar:— Aefaia iRl ufdw@n gy faserraeava: Ifudam 3w fuar forad)

I8 G T BT GRRY: T: | T&T HRa: - T TG e SrRie aRig & Sl | STy ST Td Jiaqdia: HRe: Hhal sl P “ufa-aifer sfy af i, v o e st sfa
¥ ey | I T gaeavt gty 3fa e SRy w@ i

foageaHy : YA fafer: | Wi waiisa oF Ym: 98 95 fafia: s/t o W 9 Wiedd | W I sifdea wa i) g vion Gur srad gyt 3 ¥ | SRRy Rt 9 oW st
F T WRAAF WRa: 7 376 e if sy sftRieti 3 Iawn 9 Imuigd Fm=d w1 @ ww wlafge:, Rigem 9 3 vfogr, A g o ik | | i 95 siftuRms snawafd @ |

fg: fRTORUT 0T 7 e Wed Iaar i g <Y SRUgar: Wiga: | Yiaraenunal Wodl T aagHe $av | ST i Usd e wRaA 7 sigiear | faven: v varm: Heie: |

Q.No: 5 UfeRIGRUI - 1 fawfdw:?
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Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:
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Q.No: 6 R foF gaH snaafd w12

A REZERiERt(
B TR
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Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:
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Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:
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Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:
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A ol
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Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Toha:— i weriet ufdear um fabeardeaa: IRdany S e fodl

iR Suff g figm
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Q.No: 10 &Y' 3R TR -
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Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:
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AT I RIS |
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I it e 2t i
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B 3
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Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:
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Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:
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Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:
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Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:
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c fpe-ce s
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Correct Ans : D

Subject : Sanskrit Bhasha 02
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D =
Correct Ans : C

Subject : Sanskrit Bhasha 02
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A o I TS
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Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 18 ‘[y: --- v 37 R wqfad o6 e

A Hl:

B T
C T
D HeATlT

Correct Ans : B
Subject : Sanskrit Bhasha 02
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Correct Ans : D
Subject : Sanskrit Bhasha 02
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Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 21 S U «@Y Udg: "R -

A foswr
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Correct Ans : B

Subject : Sanskrit Bhasha 02
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Correct Ans : A
Subject : Sanskrit Bhasha 02
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Correct Ans : B
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Subject : Sanskrit Bhasha 02

Q.No: 24 HgTgd qradlor SFH: T ?

A Cigie!
B HiRewd
¢ ot
D B3t

Correct Ans : D

Subject : Sanskrit Bhasha 02
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A - HBRO g

B TiBRTH R AsT:
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Correct Ans : B
Subject : Sanskrit Bhasha 02
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B ey Ty Hia: SifT |
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Correct Ans : A
Subject : Sanskrit Bhasha 02
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A yfows S¢ ST W
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c FrTfequTeaTi e e
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Correct Ans : A
Subject : Sanskrit Bhasha 02
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A TRA ©WH
B EILl

Cc HR:

D ﬂaﬁ:

Correct Ans : B
Subject : Sanskrit Bhasha 02
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A TE-FETARE SAR: S U AT
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Correct Ans : C
Subject : Sanskrit Bhasha 02
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A R SRR SuanT:
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c W IS ST Hd BAN: SR
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Correct Ans : C

Subject : Sanskrit Bhasha 02
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Q.No: 31 TIg MY & ITAfET | Wi e 781 &:
TG HTS ST & I BT [Ty Ud fRia &1 aeF §

A
T 1T fereR- R 1 e §
B
T M1 Rie 1 GdAg A §
c
TG HTST W T Y EE ¥
D

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 32 Iee UGl IHY BIH- AR Suge Tl §

A TR UGl

B T UE H1 FaIg gaaH
C =l F S P HTT HRGAT
D SR T T

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 33 Higar urs &  frenfie 3t frw siftoafds o1 Ay ar €2
A Wiae-aifvafr

B Eiceanif Res e
c -t
D -yt

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 34 WufiE TR W "G STl I F e § HH-U Ritaf sifte wems 2
A FEr PY IR T

B I urs 3T v ST

c yftrt Prafe (A9-@) SR SARER 9

D yfiyepT el SiR Sreia s

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 35 FqF Bl UPHfa & 3% fGaR- g &1 Jgar greq e & 3 - @2
A &t v

B Tt v
o =0 I
D HIHTST

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 36 = & § ey ey &t gg fafy - &2

A Had wieRor Ay

B Had yae fafy

C Faa Ige fafy

D e fafly, vae ot od Sg fRfy

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 37 A &  ya=-lAf fra Rigor-fafy & daifta 22

A - fRiegor fafy
B - g fafr
C Be-Rigor fafy
D SeimR-TRigr Yy

Correct Ans : A
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Subject : Hindi Bhasha 01

Q.No: 38 = & favad 1s § Ueaic &1 T fsivar a1 82

A VAT IR B UL GedicT

B AP f GedipT

C Faa TP T GeidT BT
D TAF TP & gd Gedib

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 39 1 & & gfs &1 Wifda F T/ FRS PH-A/A 82
A Bricr)

B @
C IER
D TRV, WA T4 3HER

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 40 urwT Rigrur 3 faftml ge...........e. R R B AR
A TET HTST

B Tden-usfa

c HY- Ay

D T I KR, 3 AR TH0

Correct Ans : D
Subject : Hindi Bhasha 01
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A i 1 e 7 Repor w1 F R Egde T g
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D e o1 we & Rigor w1 S GRA earmgds 7 G

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 42 VTS BI UIGH-YRdeh & T TIST T 19 Pl THY 1 Talifeis Ageaqul &2
A bkikce

B T P! B

C ¥ ure it w1 & W3 A & ureht 77 9

D U 915 W ARG U & gar &Y

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 43 el § HI-TRa P &HAI SFHSI gl & 31d:?
A ST T & BT LR TN R4 g¢ Rl P Rramg s wnfewl

B = B TS Y TR IUT R ST FIee |
C TT-R1g507 1 B T b T =Ry
D ATST-RIgfur 1 PR R R & o o fRe

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 44 HIGHTYT Rier 1 Rigid 76l 8-

A SifiiRon @1 Rigia
B 3R 31 Rl
c frariaa a1 Rela

D refas R

Correct Ans : D
Subject : Hindi Bhasha 01
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Passage:
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e el | AT, 7 IR ST SR 30T e 1t SIRY1 39T & e ajret BT ufaaiRiar § U AaR o e iR B T SR S o U R ¥ad 31

Q.No: 45 Iuda el & fre Sfa Wie &1 9a7 Sifre-

A Wl: TF HaAr
B R Rl
C T F ST &Hdl

D R iR

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
3= R T e TR Y gge g T Ul & Wed 3fud SR a fased 31 9 -

S SR HHG-silad &1 ey 3(d 9fss §1 aRad § ot g Siied 31 faRa &t yge Sepfadl &1 91 a1-a! Afedi & R 8t g 31 999 A & 50 9a &1 Iudifiran, =iiaadn iR fdad & eru 39t
3R i B o W Bl g Ta F R Ter ok o=y § guw! T H FHiF- I BT 3R §1 gH JTAREl 3 ST 8 Hud 354 €, ST R4 & R 3 9 wew! safdd wfafe wery, Afer
3R il & Rex AT A T IR WY 71 IR Ut W [ T W R Wad o F RAT 7 B Wl § e T B Wi o U FRam g1 IR Mg B g T S AT IR
Saaddr +ft §1 A F ST ia & A GeE-ART A T W e guX 9 A i ed € ST I8 R ST @ srua Afet B e g1 ureh e & e e of 2 @ o st 3 (ke @ el o1 R
ST Ul 4Tl fbg oRA & fow enfem wgsy 1 Py & waet 3R ufkem w1 gt g0, ife S srg Wit @t wife O3 &t ST et e 81 o B med 3fe Sresiidl ) Woe e sa &
AT 7 I UPR RAT W BT 7Ee far dR-9R 3UT 359 o 7 3o Figurn a aR o 7 o Rt U wen w9 A A o it 31 fza & o f Qo vfadifiand s 1 onfd B, I et
wioRfr sifard w9 ¥ S @ i 21

TEIA: RIPT A 3T F UF Fall ¢, I € 3R Fa a1 TReH o1 i re of, art o & sy ofR Yoferdt & el afg o &A1 I § O A & 5k @S SR 719 o3t ufaen s
SERd el | aRT, T IR BIT SR 30 e oft S8T 31 & T ORIt Bt faiRian 3 UI AR oY fae SfR AT ST SR S off U IR 9ad ] 1

Q.No: 46 FrRIfRd & A 33 A &8 a1 freran 82

A WA Y & g e 31

B WA & TG frereht 31

C T X AR 77 I il vt B

D T A T ofFiE F TY-Tr THIT R 7T Y =ify rewh 21
Correct Ans : D

Subject : Hindi Bhasha 01

Passage:
A AR RT T TN 3 UgdR U N U & Gad Siud SR ardl faded B 9ae Sifong-

T 3R AFG-Sllae &1 ay Sfdid 9fss §1 aRad & o & Sfted 21 iz &0t v Spfadl &1 91 at-at Afedi & frk € gon 81 59 A & 51 oa @t Iudifivar, s ok e & sror 3wt
SR sBid S o W) T g 7a & R em ok o & gaa! T H HIF- T 6T 3R g1 g0 SRl $ a8 79 334 €, SH R & R ol W gl safda wfafes anwy, Afer
R el F R AAIGIE B T 2R Y € T TR 4 W W T | 990 3R e ta F SR 7 Bl Wi & T 7 B il oft v R 1 Rt o 3t 9 8 ¥ - g
Smaged 1t §1 AR & U Td & AT GSH-AF 9 81 R TF gerk & @it i wa § o S Ok i1t g1 sryar fedt ® A €1 wreie o # A1d ot off 2 99 O st 31tk 8 Afedl B uR
FA Al Y1l fovg R & g onfem Agey o1 e & vae SiR uRem oA gt S, i SUH o WifdET Bt ifd ORA B ST &WaT AR §1 W A wedl anfe Ssiidl B Wee e e o
T 7 I UBR o= PR 1 e fomam k-4 Sue 39 Sl 3 gt fgurar ura R o o ore SRt T wen & w9 A A o aht @1 fawa 7 S of S ufaeifant smafora @5t Sifa §, S aRrat
v sifarf w9 & wffed 3t o 31

JIA: RO T 1 T U el §, M § iR WA auT FHReH &1 o wmem oft, ol o & omy ofR Toferdt & e o o (R ol § 1 1) & fpeR | ek 19 1 Tl o 3
Texd el aRe, T UR FR iR sroen e off SRl 39 € A aRiet @t iadfar § T daR oy faw Sik @i @1 SR Sig ot Ui aR Ed §

Q.No: 47 I9E TR & IR Yuid: T HUT BT TG BIoIg-
A =g oY vy gl &1 o SIA-S1d AfRdl F R 8@ gon 81 S9u ¥ € o1 o o1 Swdifal, S ok Fefaar $ sRo 9wt R srefia g9 eT ) €1

B fawa ot v gl &1 o at-at AEl & R gon §) wuue & € 51 oo 3t Sudif, acr iR Prfear & sRo gwat ok RAefia 9 s {
c o 3 vy el o1 9 BIET-agt AR F PR €1 gon 81 SuuE § € 59 oo 3t Sudifian, Sfiacar ik Pl & e 39wt SR i 81 o1 %R §
D forea it v Sl 1 o wt-adt ARl & R € g ¥1 e A € 5| o 3t Swaifan, e $iR Piefear ¥ wRo 3wt $R srefid B o 3@ 7

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

= R e T TR B gk g I Ul & wed 3fad SaR i faeed @1 99 sife-
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Page - 10



et 3R AFG-Sia HT oy SHdd Uies 31 IRad & ot € ol 21 fava 3t wige GRghadl &1 o 9)-a8) Al & AR & gon 31 saud I @ 79 o ot Iuhfiar, Sidadr SR e & SR ust
IR 3rBd €I of W T g 70 F 9 em ofk warm & gaa! T § THIF- 3R 6T 3R 81 g0 STl $) 5 8 799 384 €, STH R & R o T el sufda wfafes anwi, Afear
SR efidll § R THifaee HRd §1 SR W E 30T TRR S W G T WS R Miaa o B ORAT o $Y Wi 8 16T 79 B Wifd o UeH a1 81 R SfE @l 9% 8 & Y-T1 gAY
Sazgddl 1t §1 AR & U Td B AN GSH-AM 7 8 R TF ger 9 @it i Ta § o I AR 41 g1 sryar AfeEt ® A €1 v o 7 19 ot off 2 99 O st 31 A 8 Afedl B R
FHAT Ul U1l g oRA & e snfem oy & Ry € et 9fR oRem =1 gt 80, iifes Sud o WtRl &t vifd ORA &1 ST &mdT T8 §1 o B msdt ofg Sersiidl &) Wae e a9
T 7 I YBR R PR 1 e fomam k-4 39 39 il 3 gt Fgurar v R R o o SRt o wan & w9 H A o a@ht @1 fawa 7 S of S fedifant smafora @t Sifa B, S aRra
yiafrar sifard wu & wffee @t S g1

TRIA: RIS 3O 1Y B U el §, M § R WA a1 FAReH &1 o wiem oft, arl o & omy ofR Taferl & e afe o R 9 § A T & R | diaR A9 9 ufden s 3
Texd el ARE, T UR SR iR s e off TRl 39 € A Rt @t wiadifar § i da oy faw SiR @i @1 SR Sig ot Ui AR T 8

Q.No: 48 T[TaRT "3 & 3 aferdi & am” &1 7 7 3 & arf §2

A TF T B N T g™t ATy I HE
B -3 B |

c T g

D 59 ¥ fa Pre |

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

g i o T TR BT UgHR U T U & HeW I IR aKd faded BT 99 Pifore-

et SR AFg-Sia $T Gy Sd Uiee 1 IRad & ot € offad 31 fava 3t wiga SRafadl &1 o0 9dt-adl Afedt & PR € gon 81 v I & 59 o o Iuifvar, Sidedr SR e & SR 3wt
SR Sfd S o1 @ 31 g a0 & TR oM iR Sam | et @ A SHiF-SIRuH 1 iR 31 1 SRl 31 $E 3 7hd 384 @, S oRA & ) 19 97 wewl Afd ufafes IR, afedr
IR el ¥ R T B §1 3R Y g ST IR U W T B W IR W o F AT I Y Ghd & e 71 B il o v a7 §1 R g B ag 8 & AY-a1y ARy
Sazgdar ot ¥1 A F SR ia F A FeH-ar 9 89 W U gk § At e Gea ¥ ST IF ORAT STl B sruat A B A &1 ureh wra & A1 e of 2 a9 o serlt B (Raw @ Afedi Y uR
BT Ul U1l fbg R & e snfem 7gs 1 ey & Wt 3R g o1 gt gn, i SuH o MRl &1 Hifd IR &1 SIeTa &7t el §1 ofd B T ofife STeroidl ®f Woe AR d &F
TS 3 I UPR RAT IR 1 e frar oR-eR Su 58 ol § 3ot FAgurar ura ax oft i ot et U wen & w0 A I o et @1 fasa & S off A fediftant smafs ot sifa ®, S aRit
yfoifrar sifFar wu I i @t @ 81

IRI: WD 3T 3T B Ub Dl §, AW § 3R A adl AHRe o1 o wner oft, el o & omy 3R ol & e g sm &R e § @ ) & R TS S A1 B e wA 3
SRR el AR, T TR SR SR 3o e oft FET 3a € LT SRt B aREifian § 4R IR o e iR B BT SR siFg off uie R Wad B

Q.No: 49 fmfifad & ¥ ao Tse &1 99 Sifoe-

A TS
B afear
C e
D Rar

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
= R T g TR BT gge O T Ul el 3fd SR dm fdsded 31 9 -

St SR AFG-Slia $T oy Sfdid 96 3| IRad | ot gl ol 31 fava 3t ngw Uegfadl &1 97 93t-a3t Afedt & fER € gon 31 9w 9 & 59 o o) Iuafiar, Xiided ok e & SR It
3R aia g o 38 81 g 7 & A Tor iR S & gua! e & SHiF- S B SR 31 89 SRl 31 37 € 79d Iad 8, SN IR & ) i1 g wewdl afe wfafes g, Afedr
IR el & R TG A &1 SR Y ST IR U TR T §| G AR dd o F IRAT T B WG &) 6 7 B Wi 2 7S HRar 81 Rt g B g B F-9 g
Sagadr oft B1 A F ST a F A Go@H-ART 1 8 W U@ gaX § A i Gepd § S I8 ORAT STl B syt Afedl B e &1 ureh e B 19 et of 2 @ o sier a1 (ke @ el 31 R
HAT Ul U1l fg SRA & e snfem 7gsy ot Ry & wae SiR ulksm =1 st 80, iife Sud s witwdl @t wifs 33 95t SFaea et e 81 o B medt onfe Seelidl 3 We e wva &
TS A I UHR IRAT FRe 1 e fan ofR-eR SO 39 Frf § 3ot Fyorar o R R 5 ol et U s & w9 A R o ol 31 faxa & S of S ufeeifrand smaifi ot sifa 8, I tRiet
wfohfr sifar w9 ¥ s Y S 7

TI: ARIDT 3T 31T T T Bl 7, T ¢ 3R A a1 AARSH BT i Tre o, arit om & oy SR oferdt & gl afg o RA1 9 & <t 71t & ek O o 19 &1 vfien & &t
SR el IRE, T IR ST iR e W off g1 3 € A ORret @t e  4mT AR oy fae ofR @i @7 SR oM of U R T 7

Q.No: 50 FERIRT & A Yigdra I Usg BT 797 Pior-

A fram
B ™
c graxdr
D L

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
& A AT 1Y TR 3 UgdR P Y URA & Ta Sfud Sai ald faded Bl 9ae Biferg-

el 3R AFG-Sla BT et S 9 §1 arad § ot &Y SiteH 31 fa%a &t T Sepfadl o1 w1 at-adt AfeEl & bR € gon 81 w9 A @ 5w wta @1 Iy, hacar sk fdad & eror uwt
SR Mid B o X2 T g 7 & R oM SR oy & @t T A SHF-REH BT 3R 31 8H SRl 1 57 € 79d Iod ¢, SN R4 3 g1 9 9T Teval sfda wfafen I, gt
SR il F R TAIfEE BRI T R T € AT TRR et W W T 1 990 iR i ota F SR 7 1 Wi € T 7 Y =il oft ve R 1 Rt o 35t 9vg 8 F - g
Sazadd Mt §1 A F U T F G TSH-AR A g R UH R A At e Topal § 19 S8 AR S g1 Squar At W A 811 wreie e & 19 el o 2 79 ) Sie & R & AR B uR
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AT Ul U1l g ORA & R snfem 7gsy &1 Ry & vt SiR uRem =1 usT 80, iifes S s Witk &t vift ORA &1 TS &t e §1 o B msd Sfe Sl &) Wee AR a9
T 7 S UBR RAT IR 1 vae far - 397 390 il § g FAguiar v @R &R e Rt o wen & w4 # f o aft @1 fRva & S o G ufedifang sraifra 1 sifd 7, S aRiat
yferifrar sifard w3 afftife @t o 81

TH: RIP! 3T 3T T TP Hell g, I ¢ SR WA a TARer &1 g 9rem off, artt omy & o ofR Joferdt & i afg o R S § < A1t & foraik @S gias 719 @f wfaen & &t
SRed el AR, T IR ST SR sroer TR off S5 3T & A ORret @t e F m e oy fawrg SiR @i &7 SR Sfg off Une R U B

Q.No: 51 fERifdd & ¥ ‘wte’ &1 fady wsg @@m 87

A aq
B g
c )
D AR

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

e R T T TR ) ugek O Y URA & Ied Ifd SR a1 fded &1 9 -

et SR AFG-SHa $T Yoy Sd Ue ¢ IRad § o € Sfiad 21 fava 3ty GRefadl 31 o a3t-aet Akl & ReAR € gon 81 saue ¥ 8 59 o o IuaiRiar, e SR e $ SR ust
3R S B o X8 21 g 7 & T T SiR wramer & gaa! T W S-SR T iR 81 T SRl ®1 G981 7hd 364 §, SUH ok & Y| S 9 Wewal safda ufafed IRy, fedr
SR giiel § R TRfaE FRA TSR T g 3T TRR Yot W W §1 WS R Xfiaa oa § RA1 97 &1 Wi & T 79 ) wifd oft ver v 81 Rt e @t 9% 8 & -y g
SRl ot §1 AR F SHIURT T & G TSH-ART A g R UH R & At e Tl § 19 S8 kAT STl g1 et ARt & A 811 wieie &ra # A9 el A 2 aw ol e &Y (Raw & ARdl B uR
FA ISl ATl fobg IR & e onfem mgey &t Fera @ vaet ofR IRem o gt S, i S9H oy WIORT @t wifd ORA B ST & e 81 wa B medl offe; Siaelal B [Wee e e o
T 7 3 YBR RAT FRa 31 9ge foran - 399 39 orf § gt Fgurar wra aR &R fF ora Rt v wen & w9 A i o aft 31 fawa A S of Sa ofoafvand smaifora @5t ofa B, S R
wiafar sifar wu & afmfer ot w21

IIA: RS U 3 T U FHell §, I § IR WA a1 AARSH 1 o ane oft, Il oy & omy ofR 1ol & e afe omg &R 9 & A 7 & PR WS SIa) 19 B ufden dA 3
TReRd el aRT, T IR P SR 3o e o SR 39T € A aRiet Bt ufadifar § 4T AR o faw SiR B T SR Sig off Ui R Thd B

Q.No: 52 fafifaa & & frw wree &1 v Swfed wTeriw § 7Y fosan g2

A SR
B wicaRrar
C SR
D EH

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

R ST B Tga) P T Ul & Had 3fHd IRk i fdded &1 a9 Hifig-
TR | ARG - B - T
AT - T DI - P,
TRRIAT GRIVT B - UTT !

T P ISAUR H,

o1 3T 37 I ?

g - 91 o § Jgd !
2irft ol & BRI O

et §g & fafdy ary !
FURY | R IH-H-UI )
ferer g i WI-ge

I T § |W T

9y H & @l - §;
e | dl &R - IR

W = e - faa
FORY 1 AT - HY - U

Q.No: 53 HRy I avi Bl PP TR -

A TR gad
B G gadt
C Eic
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 12/45
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D Rrg
Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

R PR $ UgdHR P T UL & Te IR IR a1 ey &1 a9 Fim-
FURY 1 ORT T - H - U1 |
RRIT YR P - I !
AT P TOAUR H,

i 3fTS T 36 4 ?

e - 91 7 § we !
inft ol & BRI &

et g R fafay !
FORY | R TH-H-UI !
GRY- i - g, e
feruer gg ofoH WI-g%a;
I ST § FR-TR T

9y A I & @l - Fd;
dIge J A1 &R - IR

R Iwlad ferad - faame !
FORY | A9 - B - U

Q.No: 54 "gerardr woll" & died 3 gor fre Bt g 2

A a5 ged @
B THIT &
C Erokct
D RFTH

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

A P 1 UgaR I TT Ul S Jad IR SR aret fosed o1 7 Pifeie-
FORY | ORI - B - T
BT YA B - U !
T DT ITAUR H,

o1 TS 38 74 ?

PR § ok o 34,

e - 91 T © W |
2irft sl & BRI &

il 9 o fafdy @ 1
FURY | R TH-H-UI !
FrY- 2T - e, e
feroer 77g sisH w1-ggw;

T 3Td § -
oY H P F W@ - B
U I a1 R - SR

W Ieaa fead - faam !
TR | ORT 9 - $ - I

Q.No: 55 T # TR 7 aui Yt et e ag &2
A
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B Eaugal
C el Y
D Pkl

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

3w ProuiR B UgH] IR T U $ qed ST Ik 9 [dwed o1 w9 Sifve-
TR | ORT 9 - B - TT
AT GRIYA BT - U !
THIT BT IoIAUR H,

o1 3T T 3T I ?

Rg1 - 91 7 § e |
il el b BRI &

et §& o fafdy o
FURY 1 AT OH-H-UI )
TRy- 2 - i, e
fomer gg siv W1-g%a;
Il 3fFd d - A

9 H & @l - B;
dige I a1 &R - IR

R Ieiae feera - faar !
FUR | TG - Y - TR

Q.No: 56 T - THA S - BT Ul T STPR § -

A TP eABR
B ST SHR
c BTN RPN
D SUHT 3RIBR

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

31 T B UgH) TP T WAl & I99 3feid SR a1 ey &1 997 -
TR | ORT G - B - T
TRRIAT GRIVT B - U1 |

T P ISAUR H,

ol 1S 133 Id ?

g - 91 7§ T !
it st & ORI Y

et §¢ & fafdy g 1
FUf | ORT T- 50T !
RY- 2 - i, e
ferdet 7g o5 W1-g%;

I T § W-W T

9 & & @l - H;
dues | al &R - IR

W I=aq e - faam
FURY 1 A9 - HY - I
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Q.No: 57 "3 1 ared § -

A Foa §
B i
C BT

D Eackuk:s

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

R S $ UgdHR P Y ULl & Jed IR IR a1 ey &1 a9 Fifon-
TR | )T O - P - U
R QR T - T !
T P TOAUR H,

< 3T T3¢ I ?

g1 - 91 7 § e !
2irft ol & BRI ¥

el 4 R fafay )
FUR | ORT G-H -7 !
Ry~ +f1 - i, i
feroer g sfor w1-gga;

I ST | TR-IR T

oy I F W - §;
e F A &R - IR

&R Iwlad ferar - faare !
TR | WG - HY - |

Q.No: 58 "EURY ORI T - HY - UI" F (PR & -

A YHS 3RIPR
B IHE 3SR
[ ARSI PR
D TP APR

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

IR HToERI $ UgH P 7T UL & FoY Id IR a1 ey &1 99 Fifore-
FORY | TR I - B - T
R I B - T !
T DT ISAUR F,

o1 3T 38 ¥a ?

R - 91 7 § Je e !
2irft sl & BRI &

il 9 o fafdy @ 1
FURY | R H-S-UIY |
feroer 77g oo A1-gga;
T 3Td § - T

9y H G & @ - F;
dlue I a1 R - SR

W Iwad faead - faam |
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TR | RTGA - S - G|

Q.No: 59 "3{rRur" # Iugr § -

A 07
B RO
c a0
D a1

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 60 1 & § 'R WY T 3! ST ge arar I & e wwfe W o grm 2

A IR
B EEu

c TDE
D JEIEH

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 61 In a race, one person runs a certain distance in 2 min 40 sec and another person runs the same distance in 3 min 48 sec. What is the time difference between them?

2461636 yq d1g #, Ue Afed 2 fre 40 Vs § Ue Fia 8 90 =l § IR o afdd 3 e 48 Yobs A WM <8 90 Sl 81 S ol 99T BT S 1 82

2 min 8 sec

A 2 fire 8 ¥
B 3 min 8 sec
3 firfe 8 YFs
fo 4min85ep
4 fiFe 8 Yds

1 min 8 sec

D 1fre 8 dFs
Correct Ans : D

Subject : Mathematics

(23;"\!‘06:86620 What should come in place of the question mark (?) in the following question?
3

Sxoxix3=10575
4 2 2

Tt wer & gstarass fawg (?) & T R @1 1M =1E?
3xoxix3=1057.5
4 2 2

1860
A

1860

1800
B

1800

1880
C

1880

1840
D

1840

Correct Ans : C

Subject : Mathematics

Q.No: 63

2466856 What should come in place of the question mark (?) in the following question?

Zxix13740="
5 3

Freferfaa wear & wemmEs g (?) & W W = 31 9ike?
2x1x13740=2
5 3

A 1890
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1890

1845
B

1845

1840
C

1840

1832
D

1832

Correct Ans : D

Subject : Mathematics

Q.No: 64 What should come in place of the question mark (?) in the following question?

2467018
Tof254 of 2=7
Frafafed vy & vyare 5% (7) & RIF | TS AIRe?
%5%7[ 254 1 =7
14.275
A
14.275
15.875
B
15.875
18.375
c
18.375
19.285
D
19.285

Correct Ans : B

Subject : Mathematics

1

Q.No: 65  The value of (81)° is:

2467115
@D HIAAE :
27
A
27
81
B
81
343
(o}
343
243
D
243

Correct Ans : D

Subject : Mathematics

Q.No: 66 There are two numbers whose sum is 38 and the difference is 2. The larger number is:
2467128

<1 et €, e anT 38 3R SR 2 B oS! T R
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18
20

20
22

22
16

16
Correct Ans : B

Subject : Mathematics

Q.No: 67 The difference of the ages of two men is 4 years and the product of their ages is 165. What are the age of both men in years?
2467371

a1 el B 39 1 3R 4 ¥ § SR ITB! IY BT PHGA 165 §1 S SHEHI] &1 37 auf § &1 32

15,11
A

15,11

11, 16
B

11, 16

16,12
C

16,12

5,31
D

5,31

Correct Ans : A

Subject : Mathematics

Q.No: 68 Dhanu's present age is four years less than Priya's present age and the ratio of their ages is 3 : 5 then how old is Priya?

2467398

o Y T oy i B I o VIR 9§ HH ¥ TN 3BT 3M1g BT UM 3 : 5 € < v fpay af &1 2

3 years
A

3ay

4 years
B

aTf

5 years
C

sy

10 years
D

10 af

Correct Ans : D

Subject : Mathematics

Q.No: 69 One diagonal of a rhombus is 70 cm and the distance of this diagonal from either of the outlying vertices is 27 cm. The area of the rhombus is:
2467626

TE JEEgYS &1 T fawof 70 I § ok 39 Rpof ) 75 o aedt F1 3 g 27 I 1 Inagys &1 dF%a 7
A 1800 cm?
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1800 %t

1836 cm?
B

1836 @il

1890 cm?
c

1890 @2

1990 cm?
D

1990 @

Correct Ans : C

Subject : Mathematics

Q.No: 70 The vahie of 1/0.36 will be:
2467915

036 BIHM §IE

0.3

0.3
0.03

0.03

0.9

0.9
0.6

0.6
Correct Ans : D

Subject : Mathematics

QNo:71
2467969 ’a is equal to:

256
5£$amﬂé
25
77
A
25
77
8
9
B
]
9
35
71
C
E
71
E
72
D

25
72

Correct Ans : B
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Subject : Mathematics

24’2207123 i of the square of any number is 121. What 1s the number?

i%@ﬁ@n%aﬁwgumlm%HEQ@man%

29
A

29

70
B

70

22
C

22

21
D

21

Correct Ans : C

Subject : Mathematics

Q.No: 73 The length of the sides BC and AC of a right angled triangle ABC are 6.5 cm and 5.5 cm, then find the length of hypotenuse.
2468039

TF TSI FAye ABC F1 yaiaif BC iR AC 31 TS 6.5¢m 3R 5.5cm §, Al $uf Ht &arg 71 Hiforgl

7.5cm
A

7.5 &

8.5cm
B

8.5 ¥t

9.5 cm
C

9.5 9t

10.5 cm
D

10.5 3t

Correct Ans : B

Subject : Mathematics

Q.No: 74 The area of a triangular garden is 1600 square metre. If one side is 64 m long and the other two sides are equal in length, the length of each equal side is:
2468213

& RYSTHR &1 BT &a%d 1600 @ Mex 31 A T el 64 1l ol § SR oA <1 YSITE GUH daTE 3 &, o I G9H Yol B e o:

60.36 m
A
60.36 Ht
58.32m
B
58.32#t
59.36 m
C
59.36 W
48.72m
D
48.72 7

Correct Ans : C

Subject : Mathematics
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Q.No: 75 The sum of three consecutive odd numbers is 57. Find the smallest number.
2468304

A purTa fasm Temait &1 i 57 §1 B e I ST

17
A

17

19
B

19

21
C

21

15
D

15

Correct Ans : A

Subject : Mathematics

Q.No: 76  Analysis method is advance in which method of the following?
2468544
(I) Known to unknown

(II) Unknown to known

ey fafYy Profafaa ¥ 3 o fafy & afdm 2
(1) I1d ¥ SR

(11) 3G ¥ 914
Only I

Faa 1
Only II

Fae 11

Both I and II

1 3R 11 SN

Neither I nor II

AATARAGIT

Correct Ans : B

Subject : Mathematics

Q.No: 77 On the map 3 cm shows 120 km on the ground. Then find the value of 1800 km on the map.
2468586

THRE W 3 A o W 120 B O g3fa@ 1 & aERE w 1800 .. 31 A 1| B3

45 cm
A
45 it
35cm
B
35 &
25 cm
[
25 ¥t
15cm
D
15 ¥t
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 21/45
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Correct Ans : A

Subject : Mathematics

Q.No: 78
2469627

2 2 :
The ratio of 8 months to 1-3; years is:
I N
8 WEH 4 12 T g &
11:21

11:21
2:5

N

11

5:2

Correct Ans : B

Subject : Mathematics

Q.No: 79
2475605

C

D

is not a form of drill work.

a o &1 wd FU AL 7

Oral

Home Work
Written
fofea

Discussion

R - famsf

Correct Ans : D

Subject : Mathematics

Q.No: 80
2475906

D

What is characteristic of the unit approach of curriculum?
oAl @ 3T IUPTH Y RIS @ 82

Child centered

a1 S

Content centered

v Hiva

Objective centered

ey i

Teacher centered
Riere B

Correct Ans : B

Subject : Mathematics

Q.No: 81
2476015

D

“Problem solving” as a strategy of doing Mathematics involves
T B B U P wT H Er gy § i

activity based approach

Tafafy s e

estimation

SIAA

extensive practice
S A

using clue; to arrive at a solution
Y R UgE & T T o1 SuE S

Correct Ans : A

Subject : Mathematics
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Q.No: 82
2480974

If 'x' means '-', '+' means '+', '-' means 'x' and '+' means '+', then 45 - 2 + 900 + 90 x 100 = ?

Tl xt w3 -, e BT af e, - T o xSk ' FT e 4 ], 45 - 2 + 900 + 90 x 100 = ?

90

90
60

60
30

30

0

Correct Ans : D

Subject : Mathematics

Q.No: 83 Aims and objectives of Teaching are different from each other in relation to:

2481418

D

Rieor & I IR I ProfaRed & J§y A uw g I A §:
Time perspective
v ufied

Purpose

Nature
EEant

All of the given option
o gu f oo

Correct Ans : D

Subject : Mathematics

Q.No: 84 ' Test jtem discriminates 100% when its value for discrimination is?

2481677

C

D

T ITFTH 100% T&TUTc Il ST AEHTE o [olT SHehl Hedl 62

030-1
0.30-1
1
1

0.30
0.30

None of the given options

fau gu i fawedt & § P 1T

Correct Ans : B

Subject : Mathematics

Q.No: 85
2481856

D

“Tall shape of Mathematics’ mentioned in NCF, 2005 refers to

iU, 2005 B aftfa "R @1 et SER’ Hahid Hear g
solving challenging problems

AUl A= T WA

creating Maths game

I B S

providing hands-on experience

SAEEING THE TS T

building of one concept on other
T HGURUN &I gaR W Fmfor

Correct Ans : D

Subject : Mathematics

Q.No: 86
2481884

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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D

Advising them to work hard
IR B AeTd FA T e
Suggesting private tuitions
el e 1 3o

Supervised study in the library
TEIpTed 3 e S

Remedial teaching
STARTS Rigor

Correct Ans : D

Subject : Mathematics

Q.No: 87
2482522

D

Achievement test are

Iuafey wden &

test of minimum performance

T UG T TRe0

measures both cognitive and non-cognitive outcome.
YA SR TR-AeeTe S aRom 3t e §1

test of natural performance

Wploe He=i BT URIe0

test of maximum performance
Eakenitg

Correct Ans : B

Subject : Mathematics

Q.No: 88
2482670

D

Which of the following activities is meant to enhance problem-solving abilities of students of Class III?
Faffed 3§ & o1 @ i Sar 111 & o6 3t geer-ames guasl $ 9gn F R 32

Conduct an interclass quiz in the class on ‘numbers and operations’

w1 T el R WiFael R U siadifa il smifa w1

A worksheet containing problems on four basic operations like—Find

25 x 34, 451 + 11, etc.

o FhYiie el IR g Fril R gt §f ¥ 98— 3 B 25 x 34, 451 + 11, $f%)

A crossword puzzle containing clues for all key terms learnt like even number, odd number, composite number, prime number, etc.

T Tyt ugeh orad wi v v S8 O e, faww ge, 9ge S, ST e, o % fore R g §1

A group project : How the students of primary wing shall be distributed equally in four houses (house system of school) so that every house has

talented students from sports, arts, cultural and academic activities?

TP g URdIeET: WAE T S Bl Bt OR el (3R 91 e o) F w0H v @ H9 fafka fear wme ol s w7 Ga, Fo, s R Qe i & aiemd o e

Correct Ans : D

Subject : Mathematics

Q.No: 89
2482815

D

The part of the mind that is beyond awareness is called the

T 1 96 I Sl SIeehdl @ W 8, $eardl §

Unconscious

3

Conscious

Post-conscious
LEIGREGH

Pre conscious

Correct Ans : A

Subject : Mathematics

Q.No: 90
2482817

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

The description of a person’s character implies

Tt safd & =i & faraor 1 a1 §

The use of rating scales.
2l

The use of multiple observers.
o

The use of situational testing

fRufere=T Tiegor &1 IuEhT

Judgeme_nt about the desirability of traits
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Correct Ans : D

Subject : Mathematics

Q.No: 91 Vertical distribution of different species occupying different levels is called-

2469370
faftra Tl W fafts yenfodl 99 ol Seafer R 31 Fer I §:
Nutrient cycling
A
WS @ a0
Productivity
B
Jdrepdr
Integration
C
Leicau]
Stratification
D

wR faara

Correct Ans : D

Subject : Environmental Study

Q.No: 92 If a population has higher number of younger age group individuals, it is because of:

2469589

If ferelt sl & on arg @ & ol it dem oifie 8, 9 TUe! SR 8:

Long life span and low birth rate
A

el i P 3R H SFH R

Short life span and high birth rate
B

Y e FIa AR S TH R

Short life span and low birth rate
Cc

Y Siteq o1 AR FE A R

Birth rate is equal to death rate
D

T R G &R P R/
Correct Ans : B

Subject : Environmental Study

Q.No: 93 Who was the founder of kindergarten method?

2470224
ferswmen fafy &1 ufodre e fbar
Froebel
A
i
Montessori
B
ARed
Cook
(5
E3d
Dalton
D
Sleed

Correct Ans : A

Subject : Environmental Study
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Q.No: 94 Who said ‘play is a natural instinct’ ?

2470358
O TP WP W9 ¥ A Fet Ure
Caldwell cook
A
FIesad TP
Piaget
B
ot
Thorndike
C
UFSED
Maria Montessori
D

T Aeast
Correct Ans : A

Subject : Environmental Study

Q.No: 95 Why does a teacher encourage her students to read newspapers and magazines in EVS?
2470507

& Rifdret o feenfid 1 $dtew & warar w6 ofw ufetel # ued & e it iienfed vt §

There are interesting resources easily available

A
Tg TSI ST S & Sue §
It helps the students to connect with their own world
B
Tg fenffal @1 9% oo HOR & SieA § Hag IR §
It helps the students to be independent
(5
T faenifdl o1 Wod T H H Aeg FRa 7
It makes students competitive
D

T5 forenifat o1 uftenlf s §

Correct Ans : B

Subject : Environmental Study

Q.No: 96 Which all factor determines the structure or a design of a house?
2470581

B G BRS TR Bt I A1 oz o1 Fuffa w=ar 82

Availability of water

A
TRt B S
Weather, climate and availability of material
B
T, Siearg 3R Il 9t S
Availability of fertile soil
C
IS, gt Bt SuT=
Money
D
=

Correct Ans : B

Subject : Environmental Study

Q.No: 97 The mean maximum temperature for January at Thiruvanantapuram is as high as;
2471944

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

26/45
Page - 26



foreariagRe & sradt & R shwa ifiman aromr R o §;

50 °C
A
50 f&ht S}
45 °C
B
45 {37 Sy
31°C
C
31 f&3h S
60 °C
D
60 {33t Sfcrw

Correct Ans : C

Subject : Environmental Study

Q.No: 98 At higher concentrations of which chemical, flower buds become stiff and hard, eventually makes them fall off from the plants;
2472133

T3 T 1 I Wil W, el 1 Dl Jed SR Ted 8 ofehl ¢, O fer: 3 Meff & R el €

Carbon monoxide

A
B AilaES
Carbon dioxide
B
FTH SIFHIEIES
Sulphur dioxide
C
B SRIHHES
Nitrogen dioxide
D

AREISH SRS
Correct Ans : C

Subject : Environmental Study

Q.No: 99  The word tsunami is derived from two words

2472195

FA R A TR A T E

tsu- harbour nami- wave,
A

Y- TR - R

tsu- big name-water flow,
B

- ST -7 Hare

tsu- big name-wave
Cc

Y ST TH-TR

tsu- coastline name- wave
D

Y- T d< BT FH- g}
Correct Ans : A

Subject : Environmental Study

Q.No: 100 The technical term for a cat lover is an?
2472357

ot It & o awiat T § 2
A biophile

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

27/45
Page - 27



Sha-dft

ailurophile
B

R

cynophile
(5

AP

halophile
D

Bdiged

Correct Ans : B

Subject : Environmental Study

Q.No: 101 What food gives you an unnaturally high burst of energy?
2472631

UG HT HISH 7 S o] sRaifed ¥ F 3= SHolf ar 87

Fats
A
Ll
Protein
B
o
Sugar
C
it
Carbohydrate
D
PrERYE

Correct Ans : C

Subject : Environmental Study

Q-No: 102 Giftedness in children can be attributed to-

2473024
edi | ufquriferar % DR g IS5l §
An interplay between heredity and environment
A
ARG 3R AR ¥ § U Siq: i
A resource-rich environment
B
TP YT T GIdraRo
Successful parents
C
Hebel AT fir
A disciplined routine
D

TF IR ferraat
Correct Ans : A

Subject : Environmental Study

Q.No: 103 Where is the U R Rao Satellite Centre (URSC) currently located?
2473936

T IR 9 Jearge Yer (YIRETH) TAF F Hef Ra 82

Thiruvananthapuram

foaaqa

B Bengaluru
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Bengaluru

Guwahati
C

TRt

Hyderabad
D

T

Correct Ans : B

Subject : Environmental Study

Q.No: 104 The asteroid tracking system ATLAS is an asset of :
2474224

&5Te fam yumelt Teaw (ATLAS) foruat ufa 32

DRDO
A
.3wR.3hai
ISRO
B
Eanl
NASA
C
=
SpaceX
D
W

Correct Ans : C

Subject : Environmental Study

Q.No: 105 Which of the following is not a factor of soil formation?
2475676

fFrofifea 7 & eH-w1 a1 fwfo &1 eRe T &2
Time
A
o
climate
B
Siarg
organisms
C
it
soil roughness
D

gt &1 QR
Correct Ans : D

Subject : Environmental Study

Q.No: 106 Which of the following is the smallest river of India?
2475733

Fofifed & 4 o9 yRa 9 9a B T 32
Ganga
A
T
Godavari
B
e
C Arvari
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IR

Umangot

e
Correct Ans : C

Subject : Environmental Study

Q.No: 107 1In India, hydro power plants of or below capacity are classified as small hydro.
2475739

WRAH, A1 3T T &A1 & oI faqgd W &1 g Saideda & &4 § qilgpd e S g

25MwW
A

25MwW

30MwW
B

30MW

35MwW
C

35MwW

50MW
D

50MW

Correct Ans : A

Subject : Environmental Study

Q.No: 108 India has decided to participate in OECD Seed Schemes for which of the following categories of crops?
2475752

WRd 7 Fafafed O 9 5w 9oft &5t waal & e it i diomnedt § ur o &1 fvfa formn g2

Cereals only

A
e ST
Vegetables only
B
e wiemt
Maize only
C
el AT
Cereals, maize and vegetables
D

3, G, HEPT
Correct Ans : D

Subject : Environmental Study

Q.No: 109 Rabi crops are sown in which of the following months?

2475820
T B mua Fofiied 7 3w 7 # 9 o §2
From April to May
A
i 7 7
From May to July
B
7Y g @
From June to August
Cc
T R aF
D From October to December
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IR I IR 7@
Correct Ans : D

Subject : Environmental Study

Q.No: 110 Which of the following is not a classification of fertilizer?
2475946

Fofifed ¥ & o1 gde @1 affewo T2 §2
straight fertilizers
A
A T&RP (L HARIR)
domestic fertilizers
B
WY IRS
mixed fertilizers
C
fafta s&w
complex fertilizers
D

Tty 3P

Correct Ans : B

Subject : Environmental Study

Q.No: 111 Which of the following is not a type of Aquaculture?
2475966

1. Fish farming

2. Algaculture

3. Mariculture

Frafifed % § S b W@iHeR B UHR T8l 82
1. WSl rer

2. Rare ureH

3. OPRE S

only 1

Fad 1
only 2and 3

Fad 2 AR 3
only 2

Fadq 2

neitherl nor 2 nor 3

@1 ARAT 2R3

Correct Ans : D

Subject : Environmental Study

Q.No: 112 Seed drill is used with the help of which of the following?
2475970

1. Animals

2. Tractors

Choose the correct code -

s fgat &1 Wi fm 7 ¥ vt wewaar & favan s g2
1. SRl

2. 35

T PIS TH -
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A Only 1

Fae 1
Only 2
B
Fad 2
Both 1 and 2
c
1R 2
Neither 1 nor 2
D

Td1RAHR2

Correct Ans : B

Subject : Environmental Study

Q.No: 113 In which year international t20 was introduced?

2476522
SfaRRigta 120 fu af &= far mar ure
2003
A
2003
2004
B
2004
2005
C
2005
2006
D
2006

Correct Ans : B

Subject : Environmental Study

Q.No: 114 Which player holds the record to score the fastest century in test cricket?

2476524
X pdpe B Ued I UaF T BT RiS v et & - 72
Adam Gilchrist
A
TsH fafre
Virendar Sehwag
B
AR FEanT
Brendan McCullum
C
sie fgan
AB de Villers
D
u.5 fSffkmd

Correct Ans : C

Subject : Environmental Study

Q.No: 115 When was Madhya pradesh Krida Parishad restructured?
2476589

T YT 151 URYG &1 GieA S fsan ma ur?
30th June, 1981

30 97, 1981
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B 1st September, 1984

1 AW, 1984

13th June, 2010
C

13 T, 2010

1st September, 1960
D

1 REsR, 1960

Correct Ans : B

Subject : Environmental Study

Q.No: 116 Demonstration method is less time consuming. This statement is

2477163
=t ffd 7 g &9 @ 31 98 FU R -
True, because the teacher performs it
A
w3, i Ree W g
Untrue, because the students perform it
B
3, HifE oA R FRA T
Untrue, because the teacher takes time to explain to all the students
C
3, Fife Rivoves T SHEf & T9m ¥ w0g dar 3
Untrue, the process is time consuming
D

39, W § 9T T
Correct Ans : A

Subject : Environmental Study

Q.No: 117 Mark the role of the teacher in facilitating effective group discussions.

2477303
T ok = B g R A e 9 aiftrat B R 3R
Provide an opportunity for each student of the group to become a leader.
A
IR & TS B P U4 TIE T BT AW UgH H1
Not to act as a consultant to the groups and help
B
TEH SR e & Y SEHR & U # T T8 S 9y
Not ask “why"” or “how" questions
C
R 1 S T AYY
Instilling fear in students
D

BT # S YaT H
Correct Ans : A

Subject : Environmental Study

Q.No: 118 What are protected areas?

2477800

Wda & 1 82

Areas created for the safety of VIPs
A

dremddt it gran & R w g T &

Areas bounded to use animals for studies
B

e ¥ Y THERT BT ST R4 & Rig o1 8
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C Areas demarcated to protect our flora and fauna and their habitat

TR Tt 3R Siat iR S Siar @i & & forg Fufia &

Limited areas where hunting is allowed

Wit & el RIFR T orgafa ¥
Correct Ans : C

Subject : Environmental Study

Q.No: 119 The settlements in which houses are spaced far apart and often interspersed with fields are called what?

2477932

3 afirl Fs 7om R-@® 7% A B § IR SRR I @ R 89 ¥, = Foan 7

Dispersed Settlement
A

TP T

Compact Settlement
B

Fed T

Nucleated Settlement
C

o i

Congested Settlement
D

Sifovarg ¥t
Correct Ans : A

Subject : Environmental Study

Q.No: 120 What is the meaning of the term Habitat?

2477972
QAT 3TTaT (B face) Qreg & &r 377 87
A specific area in forest where only wild animals live
A
i % e RIRE 87 et Paw STl SR W64 §
A specific area of forest where only birds live
B
T 31 0% ARy & et Faw velt e 3
A specific place in sea where no fishes live
C
g & v AR ®F wEt P o T8 e 3
Physical environment in which an organism lives
D

M arareR ol o ofe &

Correct Ans : D

Subject : Environmental Study

Q.No: 121 The types of competition are ----

2473690
TR & v PR Bl
Three
A
ikt
Five
B
ug
C Six
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Two

i

Correct Ans : B

Subject : Child Developement

Q.No: 122 “Personality is the individual’s total behavior”. This definition was given by -

2473836
“fe BT IYUT TAER § SAKIE FEar 8 | TG TR ..o % g1 & T A
Munn
A
|1
Wood worth and Marquis
B
ol T
Dashiel
Cc
SR
Guilford
D
s

Correct Ans : B

Subject : Child Developement

Q.No: 123 The literal meaning of “psychology” is

2475320

oA T e onf &

Science of behavior and mind
A

HEER 3R 77 P e

Science of soul
B

T BT R

Science of consciousness
Cc

Ecaiatce ol

Science of temperament
D

U ST
Correct Ans : A
Subject : Child Developement

Q.No: 124 wWhich of the following may occur in Expressive Language Disorder?

2475373
Fafifa & § S a1 e W R{eR (TR e f3aaii€R) der o Gbar 22
Ample amount of speech
A
HRYR IO
Difficulty in learning new words and finding right words
B
T | B A AR e ek W | IS
Difficulty in writing
C
forem & fega
D All of the given options
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g g o+t e
Correct Ans : B
Subject : Child Developement

Q.No: 125 wWhich of the following states that different motives are prominent in the child at different stages of growth?
2476176

Frafafaa & @ SF-u1 gar § 5 faera ¥ faftm avoll § a3 § sror-sra deg Aeagy 81 82

Theory of personality dynamics

A
ST Mot (TR STAfe) @1 Rt
Theory of psycho sexual developments
B
! Sager e @1 figia
Theory of structure of personality
C
S TR BT R
Motivational theory
D

R Rigia
Correct Ans : B

Subject : Child Developement

Q.No: 126 Which factor does not affect growth and development of a child?

2476273
PH-I PRSP I B df 3R G o1 mnfaa & o 32
Traits and characteristics inherited
A
ST T SR fadwang
Single and multiple births
B
T SR THI o
Nutrition received before and after birth
C
S UgS SR a5 § e ror
Heredity and environmental characteristics
D

g SR vafaRig fawany
Correct Ans : A

Subject : Child Developement

Q.No: 127 A teacher usually assigns different tasks to different students. She believes that

2476303
AR R T eams R fafte-fafis faenfidl @ ffts-fftm om dgar 8] St uron § &
students do not like the same kind of work being assigned to all
A
el &t a5 wig &1 i Wit 31 v § o1 o o wmen ¥
there exist individual differences between students
B
ferenfifar & cafaera faftrar mive §
it promotes competition among the students
C
Tg faaifdt & e goed B agr Al ¥
with this method, the students will not be able to copy each other’s work
D

I R, Renll v TR & o 9 7o T8 R 9

Correct Ans : B

Subject : Child Developement
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Q.No: 128 Match List I with List II and select the correct answer using the codes given below the lists.
2476693

List I (Names) List II (Terms)

A. Vygotsky 1. Iconic and metaphoric language

B. Bickerton 2. Language Acquisition support system (LASS)
C. Mc Neil 3. Inner speech

D. Bruner 4. Proto language

g1 B GE 1 F Ay aE H¥ SR gl ¥ R R T Sigw w1 w) ad SW B 9 B

SSUCEO I ST GED)

A TN | 1. 3sdites 3R Aamie s

B. a3FeA 2. 4w ofFafone a9 Reed (Lass)
C. APt 3.5 =

D.§R 4. 1Y deder

A|B|C|D
112|134

A|B|C|D
3(4|1]2

Correct Ans : D

Subject : Child Developement

Q.No: 129 Effective learning takes place when :
2476870

THT ST T BT § o ¢

The teacher is strict
A

e w9 ¥

The student is willing to learn
B

B e & R R g §

The student is sent away from home
C

BT B IR Y T S §

The parents’ are strict.
D

- T e &

Correct Ans : B
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Subject : Child Developement

Q.No: 130 Attitude construct by which among the following component?

2477007
TRy Fofiied & 3 59 goe gr1 Pffa it 82
Prejudice
A
TR
Stereotype
B
wfe
Psychology
C
TR
Both Prejudice and stereotype
D

o IR 2 2R

Correct Ans : D

Subject : Child Developement

Q.No: 131 A teacher gave a problem in a class for the learners to solve. He found one child P solved it very easily. What should the teacher do?
2477052

@ e 7 el @1 ga o e e F we grw (Hism) 61 39 3@ [ 06 9= p, 3 59 9gd S19r 9 ga o foan Ree @1 o e Tilkee
Appreciate the child P

A
P &1 W8T X
Ask other children to solve the problem as quickly as P
B
3 = Y P, R et S B qHIH B4 & R Pe
Increase the task complexity for P
C
P ¥ T T ot wiiewar seig
Reduce the task complexity for the whole class
D

oft e & RIw g $ e o 7 B
Correct Ans : C

Subject : Child Developement

Q.No: 132 The existing Juvenile Justice (Care and Protection of Children) Act came into force from 1st January, =

2477672

At fH=iR = (STt 1 v SR TRewn) iffam, 199adl, _ damgen

2014
A

2014

2015
B

2015

2016
[

2016

2017
D

2017

Correct Ans : C

Subject : Child Developement

Q.No: 133
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2478104 Which of the following statements is/are NOT true?
i) Integration calls to stop segregation of children with disability for the purpose of education
ii) Inclusion calls to stop segregation of children for the purpose of education

Choose the correct code

Fofifad & A B 9/A Su Td TE /82
i) TP e & I A R =it F GUTRO FT AD BT G BT §
i) A=A fRien & SR | T= & gUawHRor Y A BT G Sl &

s T

i) only
A

i) Faa

ii) only
B

ii) Faa

both i) and ii)
C

aMl i) SR i)

Neither i) nor ii)
D

Fari) A i)
Correct Ans : D
Subject : Child Developement

Q.No: 134 Which of the following are the reasons for the deterioration of the performances of the underachievers in the school?
2478392

i) Pressure for performance by the parents

ii) Over expectation from the school

iii) Monotonous school activities

iv) Diversions due to TV

Choose the correct code

7 16 A S A SR Tpa § HH IR UK B drell  YesH # fREe $1 SR &2
i) - R U % o gere

ii) Wpd I 0aT BT BT

iii) T & Sl Tpw @t st

iv) Sl & BR fagaa

Tl s A

i) and ii) only

Fad i 3N i

iii) and iv) only

T i IR iv
i), ii) and iv) only

FHad i1 AR iv

i), ii), iii) and iv) only

Fad i,ii,iii SR iv
Correct Ans : D

Subject : Child Developement

Q.No: 135 Human beings normally have
2478869

T AR R I U A §

A 46 chromosomes in each cell
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TP SIRET A 46 TPRE

23 chromosomes in each cell

B

AP FIRET A 23 TRE

46 pairs of chromosomes in each cell
(5

T PR S IR & 46 NS

Spermatozoa in females and the ova in males
D

wienait & o1y SR et 7 sieTy
Correct Ans : A

Subject : Child Developement

Q.No: 136 According to Piaget as a child gets older his or her schemas become more

2479070
O & SOR S-S T 991 T Sl 3, SUS W W T 3RR vSdl 87
Confuse and Sceptical
A
yftr oIk SRel
Large and Small
B
ST 3R Bler
Limited and Narrow
C
Wifta iR Faitof
Numerous and Elaborate.
D

3Riey SR sl
Correct Ans : D

Subject : Child Developement

Q-No: 137 According to Piaget, the Concrete operational stage of a child is from

2479088
O & SIAR, U 5= 31 4 AlhaTeteh SRl B A B b edl 82
From birth to 2 years child
A
SHI 2| TR T
2 to 7 year
B
29 7af
7 to 11 year
C
7311 af
12 and up
D
12 IRFR

Correct Ans : C

Subject : Child Developement

Q.No: 138 The Law of Use, under the law of Exercise given by Thorndike States that, “When a modifiable connection is made between a situation and a response, that
2479332 connection’s strength will

yHeEgd gRI fat T oA % g & dgd 3dinT &1 | Sgdl § @1 "9 Ue fRufd SR ufafthar & et aRkadHig 99 Wi € 9iR Iiivee SiawT I 8 Wil € o 39 4T Bt e

Will Increase

& St
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B WwWill becrease

e g

Remains Steady
C

RR

First decrease and then increase
D

TEa vt IR R et
Correct Ans : A
Subject : Child Developement

Q.No: 139 Which of the following traits does not characterize schools in progressive education?

2479464
7 7§ PH-91 o7 vt fren 7 faemad o fadwar 6 €2
Each school should adopt an activity program.
A
A Tpd Bl T MR FrRfeT ST @i
Each school should operate on the assumption that education is something that should not be imposed upon the child from the outside but should
instead draw forth the latent possibilities from within the child.
B
T e B $H YR R PId ST § b Rien ww Ut A B, R arex 99 w A dhor 91 ARy, o w2 & ofi @ RBoft Sl &) wm @ anigw
Each school should believe in the democratic concept of individual worth.
Cc
Ui Ta Bl AR I T Apdie SiayRum ¥ fIy S =il
Each school should have standard instruction and assessment for all students.
D

T ga # it eni & e ame e iRk gwie g aikw

Correct Ans : D

Subject : Child Developement

Q.No: 140 who among the following thinkers wrote “To read without thinking is like accumulating building materials without building anything”?
2479560

frofafeaa # ¥ foa faare A foran § o IR-92 el o1 $8 J91e yaA-fafor-anmht s s s g?

John Dewey
A

i fedt

Jean Jacques Rousseau
B

S - o wE

Sri Aurobindo
C

ot oRfefY

Rabindra Nath Tagore
D

s B1gR
Correct Ans : D

Subject : Child Developement

Q.No: 141 According to Gardner, which of the following is one of the core categories to explain intelligence?
2479757

1. Ability to generate creative knowledge and output for the society one lives in.

II. Ability to solve problems in day-to-day life.

III. Ability to produce new knowledge.

MER ¥ ofFeR, i § 3 $1 92 ot aren 737 ard vga AT § 9 o 22
1. for wure # 1 e § I9% Y Tos T IR e SaE SR 3 e (ol |
11. 3 Shta 7 wrwedl 1 g o3 1 awaa
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111 741 §H ST HA FI Al

Only I
A

Fad 1

Both I and II
B

1 3R 11 SF

Both II and III
C

11 3R 111 gFF

1, IT and III
D

Tt 1, 11 3R 111
Correct Ans : D

Subject : Child Developement

Q.No: 142 w. Mcdougall classifies innate instincts into three sub-categories. Which of the following is not one of them?

2480074
S ApsiTTel 3 ool Wil 1 i Su-2Prit & arffepa faan &1 Fafefed & & @ S99 4 & 161 82
Interactive aspect
A
HARTHS TEY,
Cognitive aspect
B
AP T6,
Affective aspect
C
IR 98,
Conative aspect
D

HHRIAD Tg,
Correct Ans : A
Subject : Child Developement

Q.No: 143 Discrimination for the roles of men and women starts from

2480126
Tl SR AT B yffenish & R AauHd AgE AR
Family
A
TRaR
Strangers
B
SN TSI
Life partner
@
Site |t
Peer group.
D
i & W

Correct Ans : A

Subject : Child Developement

Q.No: 144 under which conditioning the response is under the control of the experimenter which he wants to condition?
2480154

5 ar%em & s wRiiean W & o 3§ gt ¥, B 38 sr@iia o3 ared 82

A Instrumental
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T

Classical
B
fugc i
Mixed
c
e
Conditional
D
i

Correct Ans : B

Subject : Child Developement

Q.No: 145 Which of the following is an object-oriented emotion that aids in cognition and learning?

e ¥ ¥ SH-1 ag-37E e 8, S egyfa SR aiftem ¥ weraar St 82

2480278
Quietness
A
wifa
Gratitude
B
P
Desire
C
B
Joy
D
i

Correct Ans : C

Subject : Child Developement

Q.No: 146 Spearman's two-factor theory proposed that intelligent behaviour is generated by the

2480325
i & Qs Rigia T wafdd b e gl gaer ama g & SR I Bl 31
Cognitive ability
A
HIHIHD el
General factor
B
A DRD
Sensitivity
C
RiECERING]
Analytical intelligence
D

fcvoners g
Correct Ans : B

Subject : Child Developement

Q.No: 147 Most important charateristics of a teacher is
2480759

e B Jed Heaqyf fadiwand &
Deep knowledge in his subject
A
Iu fawg & 76T I
B Methods of teaching

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

in human intelligence.

43/45
Page - 43



Rrgor & @i

Ethics
C
A
Personality
D

e

Correct Ans : B

Subject : Child Developement

Q.No: 148 Sudden perception of relationship between the learner, the goal and the intervening obstacle is termed as:
2482186

Rieneff, 967 SR AT TR TR T F §T MHRID J&Y S, Hgan ¢

Imitation
A
SIHI
Insight
B
AR
Intervention
C
WA
Instrumentation
D

peicau]
Correct Ans : B

Subject : Child Developement

Q.No: 149 HIV stands for:

2482207
TG (HIV) BT 37 §:
Human Immunodeficiency Virus
A
T TSR areE
Human Infectious Virus
B
T TR IR
Highly Infectious Virus
C
T RIS TRE
High Intensity Virus
D

TS SORIS IR
Correct Ans : A
Subject : Child Developement

Q.No: 150 Which among the following refers to the absence of a particular part of the body

2482238
or organ, or a reduction in function of some part of the body?
A ¥ foraat orf IR & st wm fadiw a7 ofm Y orgufRufd, sruar IRR & et ym &t Frfemrar § wft & 2
Impairment
A
eftorar
Disability
B
ST
Cc Handicap
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fawairar

None of the given options

g e Rwed # § B T

Correct Ans : B

Subject : Child Developement
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